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22. (1841)
(1) HS (14 SO, (14) § (14) NaS0O, (14)

(2) FeS+2HCI=FeCL,+1S 1t (34
(3) 4FeS+70, === 9Fe0,4450, (3 41)

(4) 2H,S+50,=35+2H,0 (341)

(5) S0,+20H" = 50, +H,0 (341

(6) S+NaSh=2= Na,S.0, (243 .
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DY, (A 18 43) &‘\)

H

H:CiH &7
23. (1) CH, (24 H (24 P £ (240
‘ I
(2) CH~CH,+HC1—CH,CH,C1 (2 g&,

(3) CaC+2H,0—=CH, t +c2}ii
(4) m(A)=T. 0gxX22. 16g}*mo1=0. 10 mol
n(B)=T. 0g X 40% %% 1=0. 10mol
n(C)=7. 0g X 37. 1%+ 26g/mo1=0. 10mol
CH,+ 20,=C0,+2H,0
0.10 0.10 0.20
CH.+CH,+30,=2C0.+2H,0
0.10 0.20 0.20
HC=CH+2. 50,=2C0,+H,0
0.10 0.20 0.10
m (C0,) =44g/mol X (0. 10+0. 20+0. 20) mo1=22¢
n (H,0)=0. 02mo1+0. 20mo1+0. 10mo1=0. 50mol
n (H,0)=0. 20mo1+0. 20mo1+0. 10mo1=0. 50mal (8 41)

i CERE 10 4, {Fik—E)
b m i L E Pl 2 FhE: hitp://www. pkuzyw. com



@ 2t % &
25 ] JER K — e 3 b
24. WYEBELRY 4T 2000 NHNO,, EERFE N 80g/mol, EHIEERBE N 14g/mol: WEERE:

2x l4g,-' mol

PE2ANET, %@Hﬁ@ﬁ"]ﬁﬁﬁﬁih 0/ mol

x 100% = 35% & #4 i 1 8% Al Bl

B & B 43 N 35% % (1-8%) = 32.2%

25. WA 500ke BEM R 2240 AL AR & x

2NaCl+2H oﬂzmamH cL,T+H,T

2X58.5 240
X 500kg

_2x58.5x500kg =73 1kg -

T 85 % M i N T3 kg +85% —3505;
. CREE 104, fFiE—E) V\f%
26. /\_\’

Na,CO,+2HCI=2NaCl+ ch;/rls@\
1 2 @

0.1500kg 1/ L x0:03000L

106.0g/mol

0.1500g x 2
0.03000L x106.0g / mol

=0.0943mol / L

c(HCI) =

27
2X +3H,50, = X,(50,),+H, T
2M 3X22. 4L

3. 47g 2.24L

34Tgx3x22.4L [/ mol
2x2.24L

B A(X)=52.0

M(X)=

=52.0g / mol
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